	CIS 2168 - 2 Quiz #3

	Name:


	


	1. (2 points)  Determine the order of magnitude of the following algorithm. 
Assume that the double array ‘a’ has n elements.

For (int i=0; i<5; i++)

   For (int j=0; j<5; j++)

      double d = a[i]+a[j];

Order of magnitude: O(___)


	2. (2 points)  Determine the order of magnitude of the following algorithm. 

Assume that the double array ‘a’ has n elements.

For (int i=0; i<n; i++)

   For (int j=0; j<n; j++)

      double d = a[i]+a[j];

Order of magnitude: O(___)


	3. (2 points) Determine the order of magnitude of the following algorithm. 

Assume that the double array ‘a’ has n elements.

For (int i=0; i<n; i++)

   For (int j=0; j<5; j++)

      For (int k=0; k<log(n); k++)

         double d = a[i]+a[j];

Order of magnitude: O(___)


	4. (2 points) Assume 2 algorithms A,B with order of magnitude OA(n2), OB(n). Which statement is correct?

· A is always faster than B

· For large numbers n B is faster

· Far small numbers n A is faster

· B is always faster than A 


	5. (2 points) Sort by complexity (fastest first): O(n), O(log n), O(1), O(n2), O(2n)
____, ____, ____, ____, ____




